IM1001(B3)

Iﬁ“-n_l

=S

HE
L AD
h":;;;-‘:;}:;l:; Foot » Pattes Shaft » Arbre Frame » Carcasse
A B R N S N
SEM 96 10,2 M3x9
63M b3 . 100 . BD 40 . 7 . 11 jb . 23 . 4 . 8,5 12,5 . Max10 . 120 103 . 130 . 1M 220
T1M 11 112 a0 45 F 14 jb 30 5 11 16 M5x12 132 104 147 186 241/255*
80M B0 . 125 . 100 50 . 10 . 19 jb . 40 . B . 15,5 | 2.5 . Mex16 . 160 130 . 163 . 213 290
905 a0 | 140 | 100 56 | 10 | 24 jb | 50 8 | 20 27 | MEBx19 | 175 130 | 183 | 229 312
aoL 90 140 125 56 10 | 24j6 50 8 20 27 MBx19 175 155 183 229 367
100L 100 . 160 . 140 63 . 12 . 28 |6 . 60 8 24 31 . M10x22 . 198 175 . 205 . 252 367
112M 112 . 190 . 140 70 . 12 . 28 jb . B0 8 24 37 . M10x22 . 220 180 . 229 . 279 395
1325 132 . 216 . 140 89 . 12 . 3B kb . 80 . 10 . 33 41 . M12x28 . 252 175 . 265 . 318 437
132NIL 132 | 216 | 178 89 | 12 | 38 kb | 80 | 10 | 33 41 | Mi12x28 | 252 2157225 | 265 | 318 501
160M 160 . 254 . 210 | 108 . 15 . 42 kb . 110 . 12 . 37 45 . M1b6x36 . 290 292 . 320 . 385 640

1a0L 160 | 254 | 254 | 108 | 15 | 42kb | 110 12 37 45 Mibx3e | 290 292 320 385 B40



